

Section 19 Matrices & determinants

Exercise of 10P

1a) $A(1) = \begin{pmatrix} 3 & 1 \\ 1 & -2 \end{pmatrix} \Rightarrow \det A(1) = \begin{vmatrix} 3 & 1 \\ 1 & -2 \end{vmatrix} = -6 - 1 = -7$ 10P

b) $x A(y) - y A(x) \stackrel{4P}{=} x \begin{pmatrix} y+2 & y \\ 1 & -2 \end{pmatrix} - y \begin{pmatrix} x+2 & x \\ 1 & -2 \end{pmatrix} = \begin{pmatrix} xy+2x & xy \\ x & -2x \end{pmatrix} - \begin{pmatrix} xy+2y & xy \\ y & -2y \end{pmatrix} =$
 $= \begin{pmatrix} 2(x-y) & 0 \\ x-y & -2(x-y) \end{pmatrix} = (x-y) \begin{pmatrix} 2 & 0 \\ 1 & -2 \end{pmatrix} = (x-y) A(0)$ 6P

c) $[a A(-1) + A(a)] \cdot A(0) \stackrel{2P}{=} \left[a \begin{pmatrix} 1 & -1 \\ 1 & -2 \end{pmatrix} + \begin{pmatrix} a+2 & a \\ 1 & -2 \end{pmatrix} \right] \cdot \begin{pmatrix} 2 & 0 \\ 1 & -2 \end{pmatrix} \stackrel{2P}{=} \begin{pmatrix} 2a+2 & 0 \\ a+1 & -2a-2 \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 1 & -2 \end{pmatrix}$
 $= (a+1) \begin{pmatrix} 2 & 0 \\ 1 & -2 \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 1 & -2 \end{pmatrix} \stackrel{2P}{=} (a+1) \begin{pmatrix} 4 & 0 \\ 0 & 4 \end{pmatrix} = 4(a+1) \cdot I_2 \Rightarrow$
 $\Rightarrow 4(a+1) = a^2 + 7 \Rightarrow a^2 - 4a + 3 = 0 < \frac{1}{3} \Rightarrow a \in \{1, 3\}$ 2P

2-a) $x(3,1) = \begin{pmatrix} 3 & 1 \\ 3 & 3 \end{pmatrix} \Rightarrow \det(x(3,1)) = 3 \cdot 3 - 1 \cdot 9 = 0$ 10P

b) $x(a,b) \cdot x(c,d) = \begin{pmatrix} a & b \\ gb & a \end{pmatrix} \begin{pmatrix} c & d \\ gd & c \end{pmatrix} \stackrel{5P}{=} \begin{pmatrix} ac+gbd & ad+bc \\ g(bc+ad) & ac+gbd \end{pmatrix} \stackrel{5P}{=} A(ac+gbd, ad+bc)$

c) $\det x(m,n) = \begin{vmatrix} m & n \\ 3n & m \end{vmatrix} = m^2 - 3n^2 = (m-3n)(m+3n) \stackrel{2P}{=} (m-3n)(m+3n) = 1$ 2P

$m, n \in \mathbb{Z} \Rightarrow (m-3n), (m+3n) \in \mathbb{Z}$

$\Rightarrow \begin{cases} m-3n=1 \\ m+3n=1 \end{cases} \text{ sum } \begin{cases} m-3n=-1 \\ m+3n=-1 \end{cases}$

\Downarrow
 $\begin{cases} m=1 \\ n=0 \end{cases}$ 2P

\Downarrow
 $\begin{cases} m=-1 \\ n=0 \end{cases}$ 2P

$\Rightarrow (m,n) \in \{(1,0), (-1,0)\}$ 2P

3. a) $\det A = \begin{vmatrix} 1 & 0 & 1 \\ 0 & -1 & 1 \\ 1 & -1 & 0 \end{vmatrix} = - \begin{vmatrix} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 1 & 1 & 0 \end{vmatrix} = - \begin{vmatrix} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 2 & 2 & 2 \end{vmatrix} = -2 \begin{vmatrix} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 1 & 1 & 1 \end{vmatrix} = -2 \begin{vmatrix} 1 & 0 & 1 \\ 0 & 1 & 1 \\ 0 & 1 & 0 \end{vmatrix}$
 $= (-2) \cdot 1 \cdot (-1) \begin{vmatrix} 1 & 1 \\ 0 & 1 \end{vmatrix} = 2$ 10P

b) $A^2 = \begin{pmatrix} 1 & 0 & 1 \\ 0 & -1 & 1 \\ 1 & -1 & 0 \end{pmatrix} \begin{pmatrix} 1 & 0 & 1 \\ 0 & -1 & 1 \\ 1 & -1 & 0 \end{pmatrix} = \begin{pmatrix} 2 & -1 & 1 \\ 1 & 0 & -1 \\ 1 & 1 & 0 \end{pmatrix}$ 2P

$A^3 = A \cdot A^2 = \begin{pmatrix} 1 & 0 & 1 \\ 0 & -1 & 1 \\ 1 & -1 & 0 \end{pmatrix} \begin{pmatrix} 2 & -1 & 1 \\ 1 & 0 & -1 \\ 1 & 1 & 0 \end{pmatrix} = \begin{pmatrix} 3 & 0 & 1 \\ 0 & 1 & 1 \\ 1 & -1 & 2 \end{pmatrix}$ 2P

$x A + y I_3 = \begin{pmatrix} 2xy & 0 & x \\ 0 & -2xy & x \\ x & -x & y \end{pmatrix}$ 2P

$\Rightarrow \begin{cases} x+y=3 \\ x=1 \\ y=2 \\ -x+y=1 \end{cases} \Rightarrow (x,y) = (1,2)$ 4P

c) $B = \begin{pmatrix} 2 & 0 & 1 \\ 0 & 0 & 1 \\ 1 & -1 & 1 \end{pmatrix} \Rightarrow t_B \stackrel{2P}{=} \begin{pmatrix} 2 & 0 & 1 \\ 0 & 0 & -1 \\ 1 & 1 & 1 \end{pmatrix} \Rightarrow B^* \stackrel{2P}{=} \begin{pmatrix} +1 & -1 & +0 \\ -(-1) & +1 & -2 \\ +0 & -(-2) & +0 \end{pmatrix}$

\Downarrow
 $\det B = - \begin{vmatrix} 2 & 0 \\ 1 & -1 \end{vmatrix} = 2$ 2P

$B^{-1} \stackrel{2P}{=} \frac{1}{\det B} \cdot B^* = \frac{1}{2} \begin{pmatrix} 1 & -1 & 0 \\ 1 & 1 & -2 \\ 0 & 2 & 0 \end{pmatrix}$ 2P

Sedimente 19
 Approfondere **of 10P** Matrice $n \times n$ determinante

1. a) $\det(A(0)) = \begin{vmatrix} 0 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 0 & 1 \end{vmatrix} \xrightarrow{r_1-r_2} \begin{vmatrix} -1 & 0 & 0 \\ 1 & 1 & 1 \\ 1 & 0 & 1 \end{vmatrix} = (-1) \begin{vmatrix} 1 & 1 \\ 0 & 1 \end{vmatrix} = -1$ 10P

b) $A(z) \cdot A(z) = \begin{pmatrix} 2 & 1 & 1 \\ 3 & 1 & 1 \\ 1 & 2 & 1 \end{pmatrix} \begin{pmatrix} 2 & 1 & 1 \\ 2+x & 1 & 1 \\ 1 & 2 & 1 \end{pmatrix} = \begin{pmatrix} 3x+2 & 3+x & 4 \\ 4x+2 & 4+x & 5 \\ 3x+3 & 2+3 & 4 \end{pmatrix}$ 4P

$A(0) = \begin{pmatrix} 0 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 0 & 1 \end{pmatrix}$ 4P

$\Rightarrow \begin{cases} 3x+2=0 \\ 3+x=0 \\ \dots \end{cases} \Rightarrow S = \emptyset$ 2P

c) $\det(A(z)) = \begin{vmatrix} 2 & 1 & 1 \\ 3 & 1 & 1 \\ 1 & 2 & 1 \end{vmatrix} \xrightarrow{r_2-r_1} \begin{vmatrix} 2 & 1 & 1 \\ 1 & 0 & 0 \\ 1 & 2 & 1 \end{vmatrix} = - \begin{vmatrix} 1 & 1 \\ 2 & 1 \end{vmatrix} = 1 \neq 0$ 3P $\Rightarrow \exists A(z)^{-1}$ 2P

\Rightarrow ecuatie $A(z) \cdot X = A(0)$ are solutie unica $X = (A(z))^{-1} \cdot A(0)$ 3P

$\Rightarrow X = \begin{pmatrix} -1 & 1 & 0 \\ -2 & 1 & 1 \\ 5 & -3 & -1 \end{pmatrix} \begin{pmatrix} 0 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 0 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 \\ 2 & -1 & 0 \\ -4 & 2 & 1 \end{pmatrix}$ 2P

2. a) $\det(A(2,3)) = \begin{vmatrix} 2 & 3 & 1 \\ 1 & 2 & 3 \\ 2 & 1 & 3 \end{vmatrix} \xrightarrow{c_1-2c_3} \begin{vmatrix} 0 & 0 & 1 \\ -5 & -7 & 3 \\ -4 & -8 & 0 \end{vmatrix} = 12$ 10P

b) $\det(A(n^2, n)) = \begin{vmatrix} n^2 & n & 1 \\ 1 & n^2 & n \\ n^2 & 1 & n \end{vmatrix} \xrightarrow{c_3+c_1+c_2} \begin{vmatrix} n^2 & n & n^2+n+1 \\ 1 & n^2 & n^2+n+1 \\ n^2 & 1 & n^2+n+1 \end{vmatrix} = (n^2+n+1) \begin{vmatrix} n^2 & n & 1 \\ 1 & n^2 & 1 \\ n^2 & 1 & 1 \end{vmatrix} =$

$\xrightarrow{r_2-r_1} \xrightarrow{r_3-r_2} (n^2+n+1) \begin{vmatrix} n^2 & n & 1 \\ 1-n^2 & n^2-n & 0 \\ 0 & 1-n & 0 \end{vmatrix} = (n^2+n+1)(n-1) \begin{vmatrix} n^2 & 1 \\ 1-n^2 & 0 \end{vmatrix} =$

$= (n^2+n+1)(n-1)^2(n+1) \geq 0 \forall n \in \mathbb{N}$ 2P

c) $B \cdot A(x, 0) = A(x, 0) \cdot B = I_3 \Leftrightarrow A(x, 0)^3 = I_3$ 3P

$\Leftrightarrow \begin{pmatrix} x^3+2x^2+1 & 2x & x(x+1) \\ x(3x+1) & x^3+1 & 2x \\ x(x^2+2+2) & 2(x+1) & x^2+1 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} \Leftrightarrow \boxed{x=0}$ 4P

3. a) $\det A(z) = 2 \cdot 2 \cdot 2 = 4$ 10P

b) $\det(A(x) + B(x)) = \begin{vmatrix} 2 & 0 & 2 \\ 0 & 2 & 0 \\ 2 & 0 & 1 \end{vmatrix} = 2x \begin{vmatrix} x & x \\ 2 & 1 \end{vmatrix} = -2x^2$ 4P

$\det B(x) = \begin{vmatrix} 0 & 0 & x \\ 0 & x & 0 \\ 2 & 0 & 0 \end{vmatrix} = -2x^2$ 4P

\Rightarrow sunt egale 2P

c) $A(n) \cdot B(p) = \begin{pmatrix} n & 0 & 0 \\ 0 & n & 0 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} 0 & 0 & p \\ 0 & p & 0 \\ 2 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 & np \\ 0 & np & 0 \\ 2 & 0 & 0 \end{pmatrix}$ 3P

$B(3) = \begin{pmatrix} 0 & 0 & 3 \\ 0 & 3 & 0 \\ 2 & 0 & 0 \end{pmatrix}$ 3P

$\Rightarrow np=3$ 2P
 $n, p \in \mathbb{N} \Rightarrow$

$\Rightarrow (n, p) \in \{(1, 3), (3, 1)\}$ 2P